/200
1000

Lof 03 0¥ ok ob o)
241 | 2
Y KE + =
A
i\/({)f/ m
242 ’ 246
550 — B
243 21
B 1%
T
248

244




32

T
1,2,3,4,5 - - e
. 100, 101 + "
""" 1000 e 01 2
253 249
N2 /, *
AR b
0 10 20 @
Llltlltxnxlnxlilxxlxll M}
7. 5m
254 250
Il D 12.5]

255

251

X4 L7z E28 4

256

\A
—V

\\
//\\
&

252

& Wi

3.14
!




33

A w /= <
7 %// % clefelele
_ 38838
OO
QOOOBW
257 261
T * 1Cfﬁ
7 D wAE AFH L F A—bI)
/ ,
}‘ch lcm 1
\ ‘
\40111 — \ 1 d
. - cim
T & A 1m ,
778 O A (LFH A~ b 1)
3ci 1 m/ 1ol
\ \
3cm ~1m —
259 263
S Lt
NN (1FH 0 A— L)
-T X X2 /
Tkm 1k
—3 X —3

260

\

T~ 1km —

264




T = A
AfEd 3
2
3/)834
265 269 |
2
3)834
6 60°
266 270
—ODHAD

8 56% MO)T2

I’ F LW

37834
6 AN S
2
‘ —SORD
BZEZE)OL_CZS j{%ﬁﬁ“g‘;L“
2 |
37834
6
2 3

268

272




35

ZODE®ED

P L]

ThHhoJ-

)

273

AIRe

12800 —» 10000
™~

\\: 12000

* 13000

I
e
> (—v
S
; B

274

278

Y LR 1 FDhLE TOHWE
12800
l
13000
I LoTuw3 R RIECNE
342X 3= 253
Yot l

276

20

280




36

U B Lw o) (=E
15.5 ; 25
| o)
L .
AR TIN RLEDEKZ 24
Zf' | Qf 297600 +49200
20 30 ‘ )

282

286

Ers 10 0nE
26011

l

30000
.

283

NEHOERER

297600-49200

2817

ENS( WEDOAWEK

130594

l
14000
1

f

284

NMIEDEZ 2R

297600x 21

288




37

60M 1T TH 50

ESRC

—EHLEF1L1ZHgDKkX

/ L
///// S
//////
289 293
1 A DUHF] Ilmo29nl
;@ r:g<'“; @m/ / Im \
4 &) LY | E n
\_,/\. L --------------
{yg g ;@J \_;/T ______________
BHEEHLTWS 357 D1
O g
e Al —
QQl%B 6 C/j \é> 295
1=/ 2174 31-4A 5
1 2
3 3

292

296




38

*ﬂ% TN TN .
~— /
S wﬂ - — &R TTTITTTT
~ )
2200 | IF 2 g
| ok =l S L
M N o - - N IR IREAT
I S ~ e —|=
AN N N _ 243 ) / ] )
2_5 | 7~5 3_5 WMu
5 % o o
. A,_M . 2 i =
1 <




37

10010413, [ ]

L B
1000 T/

[

151
1000105 oL, [ ]

100

305

42195m
O0O. OOO0km

Y5V UDE 1

309

1 00m

1km

@.:w::“

“=( ) km

306

1 kmol0401

L0104 45 ?
<<fii;m2
@

1 10m
=0. 1kmonl040l1

0. 1km

307

1130.0 101 £5 2

I

o= 001

311

1m

1 =0. 01lkmn10454nl

1130.0 0 1Dfa£5 ?

1

H o= 0.001

312




40

VEX S 3L

1
0.1 = —
L]
3 141
313 317
3. 91113
1 .
001 = — L% O:
J 0. 1% O-:
0. 012 QO-=
0. 0012 QO=
HAH -3
314 318
X 3. 911
0001 = — | }
[ ] |
D Ty 1
o lagml
D
b mlo(]g)o
L
315 319
5( 2@1 266 0.1% [ ]
141 25. 06
i 0. 1

316

320




